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EC 4101 . PROJECT PLANNING AND INVESTMENT ANALYSIS

Time:02 hours

1. a) What is Discounting?

b) Why is it important in Investment Appraisal?
c) write the equation for carculating the Discount factor.
d) If you get Rs'100,000 as retums for an investment at r[vop€ryear after 10 years,

what is the present varue of the returns? (20 marks)

2'The Eastern Provincial council @PC) is considering the implementation of an irrieationproject that targets smail vegetabGa;; in trre na;i3;;;r,;;. The irrigation proj;ct aimsto increase the extent of hnI cumvaduioer vegetables uy?ru.trr", 1,000 acres to increasethe small farmers' income, and it will take five 1!":;;_l#or"rr,r* construction work. Thecost of construction (dam, chann.tr, rtJ."r rtg.) i, ns.s mii-r-ion and Rs.3 million in the l$and 2nd'vear and Rs.i,miriion.from the;'%;r;;;:"irrT."iTi"r purchase of equipment,s isRs.l miltion in the 2nd *Jt;rt;;;;;y. u
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an operating life of20 years. During the 20 years of i*igation watersqpply operations the structuri -urt 6. maintainid ut u rorio?i1r.500,000 per year from the
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i l,i;xo.l ifl ,'r".,,,#'*r';:tr i if; illi: lrat a price of Rs'30 ner kg ana tnlteaterut qrii.r orns,+o pei i.! ,il end of the project. TheEPC wants to know whJther ril".,.1j;;""r;rr" r*ig"ii*,[,o jTa *ortt *t 1e project bytaking a loan at 9%. perform tf,. f"ii"*i"g;'

i) Provide the benefits and costs for the irrigation dam in a taburar form.

ii) using discount rates of 5olo and lilYoto these dat4 calculate the Net present value
(NPV) and the Benefit Cost Ratio (BCR).

iii) Estimate the Internal Rate of Retum (RR) ofthe project (use Graph sheet provided)..
iv) comment on whether investing in this inigation project is worthwhile for the Epc.

(40 marks)

------{ontd. p.2



3. i) Illustrate the seven stages of the project cycle using a clearly labeled diagram.
ii) which stages of the Project cycle are crucial for the success of project
implementation? Give reasons.

iii) what do you understand form the term project Risk Management?

iv)List the types of risks encountered in project implementation. (20 marks)

A firy implementing a project has identified the following activities for assisting in
completion of the project as shown in Table I given beloi. The project activitiei are
to start on10/A4/2015.

Table 1: Project Tasks, Duration and Compietion levels

Thsk Start {Week No.) Duration (Weels) 7o Completed

T1 I ) 100

T2 ) 3 90

T3 1 8 75

T4 3 4 80

T5 5 5 60

T6 2 4 25

T7 10 6 0

T8 6 6 50

T9 7 2 50

T10 8 6 0

Answer the following:

a)

b)
c)

4.
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Discount Factor Table
DlscOUt{T FACTOR (p.a.} FoRA RANGE OF DTSCOUNT RATES

Present Value of $i in the Future at Discount Rate p6

Year 3Vo 4% 6% 6% 7o/o 8% 9% 1Vh 11o/o 12% 13% 't1% 15%
0 I 1 1 1 1 I 1 1 1 1 1 1 1
1 0.9709 osl5 0.9524 0.943r 0.s46 0.w 4.9174 0.s91 0.9009 0.6129 0.8850 o.sTn 0.ss
2 0.9426 0.P46 0.s/0 0.8s00 0.8?34 0.s73 0.8417 0.8a64 0.8116 0.7stT2 0.7831 0.7@5 0.7561
3 0.s'151 0.8Sr0 0.ffi8 0.8396 0.8163 0.7906 07722, 0.7513 0.7312 o7118 0.ffit1 0.6/50 0.65/5
4 0.8885 0.8818 o.w7 0.7921 0.76A' 0.7350 0.m84 0.68:n 0.5587 0.Gls 0.6133 0.5821 0.t18
5 0.8626 0.821S 0.7ut5 0.7473 0.7130 0.69b 0.64,99 0.€am 0.ss6 0.5674 0.5428 0.5194 a,Nn
6 0.&t75 0.79G 0.7{62 0.7050 0.66ffr o.ffi 0.ffi .0.5645 0.6346 0.5066 0.4808 0.4558 o.4,fixr
7 0.8131 0.76S 0.7107 0,6651 o.v7 0.58S6 0.4r0 0.51& o.4€17 0.4523 0.4251 0.3ss6' 0.3759
I 0.78S1 0.7307 0.6768 0.vt4 0.5@ 0.8tG 0.$19 0.4165 0.4its9 0.4@ 0.c/62 0.36(b 0.32@
I 0.76Ar 0.7u5 0.64i16 0.5919 0.54p 0.flra 0.46& 4.4p11 0.s€ 0.3806 0.9p9 0.3075 0.843
10 o.74p.1 0.6756 0.6J3S 0.5584 0.5083 0.&2, a.&1 0.3856 4.. 0.w) 0.2948 0.&7 0.u712It o.724 0.645 0.5847 0.5ffi8 0.4751 0.4289 0.3875 0.3606 0.3173 A.ET5 0.2607 0"86 02149
12 0.7014 0.6al6 0.5668 0.49/0 0.444A 0.$71 0.3655 0.31S 0.2858 0.F67 0.407 0.2076 0.186S
13 0.6810 0.6006 0.58m O,{688 0.4150 o.%n 0.cM 0.28S7 0.5/5 o.w2 o.M2 0.1821 0.'tg
14 0.5611 0.5r/5 0.5051 0.44n 0.3878 0.3405 g.N2 0.2603 0.m0 0.u)46 0.1807 0.159t 0.1413
15 o.et1s 0.5559 0.4810 0.4173 0.ffi4 0.315a 0.n45 0.2394 0.20e0 0.18a7 0.1590 0.14X 0.1w
16 0.6m!2 0.sqil) 0.,f581 0.3s36 0.3s87 0,2919 0.2519 o.2176 0.1883 0.1601 0.1415 aln 0.169
17 o.6050 0.5134 0.43dt 0.3714 0.3166 0.nB 0,3!1 0.1978 0.1ffi 0.1456 03%2 0.1078 0.0w
18 0.5874 0.495 0.4156 0.35{E 0.295s 9.w2. 0,l?o 0.1799 0.1528 0.tgx' 0.1108 0.0946 0.808
19 0.5703 0.47$ 0,395/ 0.3a(E 0.2/65 0.?317 0.1s45 0.1635 0.1377 0.1161 0.@81 0.0@ 0.rrog
20 0.5537 0.tt584 0.3769 0.3118 0.2584 0.2145 a378/. 0.1486 0.1240 0.1G17 0.m68 0.(I/28 0.611
21 0"st75 0.4388 0.3589 0.N2 0.2415 0.1987 0.1637 0.1351 0.1117 0.0926 0.(}768 0.0m|8 0.0r}1
22 0.5219 o.4m 0.3418 o.an5 4.257 0.r839 0.1502 otm 0.1007 0.mm 0.tb80 0.0560 0.&le
23 0.5067 0.4057 0.3256 0.2618 0.2109 0.1703 0.1378 0.1117 0.607 0.0738 0.601 0.o491 0.or@
24 0.4919 0.3s01 0.3101 0.24tA 0.1971 0.15"r/ 0.1264 0,1015 0.0817 0.065s 0.0$2 0.0431 0.004,9
25 0.4n6 0,tr/51 0.2s53 0.2330 4.1u2 0.1460 0.11@ 0.sa 0.o b 0.0588 0.0471 0.(B78 0.804
26 0.4637 0.tr{I/ o2812 0.2198 4,fie, 0.1362 0.164 0.G39 0.s63 0.$25 0,ot17 0.m31 0.@64
27 0.4502 0.3468 0.678 4.?g.74 0,1609 4.1%2 0.(F/6 0.gB 0.@7 0.0469 0.6@ 0.0291 0.830
28 0.4t71 0,3335 0.2551 0.19s6 0.1504 0.1159 0.0895 0.ffi 0.(F38 0.0r19 o(B6 0.@55 0.@m
29 o.4243 034ffi 0.2429 0.1846 0.146 0.1073 0.@ 0.ffio 0.0485 4.B74 0,0289 o.@4 0.0174
30 0.4120 0.s3 0.a14 o.1741 0.1314 0.m94 0.0754 0.0673 0.0437 0.&t34 0,@56 0.0196 o.ot51
31 0.4{n0 0.2s55 o.n4 0.'t64il a.1m 0.€20 0.m1 0,0521 0.0094 0.02s8 0.w 4.u72 0.0131
32 0.38&l 0.451 0.aFg 0.1560 0.1147 0.(B52 0.ffi4 o.0d.71 0.G66 0.(E60 0.@0 o.fi51 0.0114
33 0.fio 0n41 0.1sr9 0.1462 o.$n 0.0789 0.0682 0.(x31 0.@19 0.m8 0.$n o.fi3a 0.qxF
34 0.$60 0.2dn 0.19(X 0.1379 0.1002 0.s/30 0.0534 0.@r 0.@8 a.an 0.015/ 0.0116 0.m86
35 0.35'+ 0.84 0.1s13 0.1301 0.tpa7 0.s76 0.0490 0.856 0.(2s) 0.0189 0.01s o.fl04 0.m75
36 0.39) o2437 0.tn o.1zt 0.0875 0.m 0,0449 0.Gix' 0.023t 0.01@ 0,0r23 0.m9 0.ffi5
37 0.3350 0.23#t 0.1644 0.1158 0.0818 0.s80 0.0412 0.0xx 01210 0.0151 0.0109 0.6/8 0.m57
38 0.c52 0.2253 0.1566 0.1€2 0.('/s 0.0537 0.0878 a.wt 0.019) 0.0135 0.0096 0.0m0 0.s49
39 0.3158 0.2168 0.1491 0.1031 0.0715 0.of97 a.M7 0.@43 0.0171 0.012) 0.m86 0.qFo 0.@43
40 0.cs8 0.2083 0.1421) 0.G12 0.(168 0.e*io 0.(B18 g"w1 0.0154 0.0107 0.m75 0.ffi3 0.@7
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ReDroduced frorn' The Farners Forest: Mnrttptrpre Farattyfor Au*rclian Farmers gr2r


